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Dear Parents/Carers,

¢

Welcome to this guide to Maths in Year 1. In this booklet you will find knowledge
organisers for every Maths topic covered in Year 1 and then some extracts from
our calculation policy showing the methods taught. The knowledge organisers in-
clude the key vocabulary the children will come across in each topic as well as the
key objectives taught and models and images used.

We hope you find these useful and that they will help show you what is being
taught in school this year.

Year 1 Team
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Humber and Place Velue

Number and Place Value Knowledge Organiser

One More and One Less




Number and Place Value

Ordering

Knowledge Organiser

Comparing

*
* %
* %

5=5 (.

equals L J

4 < 7
1st less than
first
8> 2

second

greater than twa

il S

Lewis has the most.

Olive has the fewest.




Number and Place Value to 20 Knowledge Organiser
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. - Key Vocabulary
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Key Vocabulary

fourteen

fifteen

sixteen
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Number and Place Value to 20

Knowledge Organiser

' mc_lf’e Counting in Twos
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Number and Place Value to 50 Knowledge Organiser
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kﬁ? is one less than 50
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Number and Place Value to 50 Knowledge Organiser
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Number and Place Value within 100

Knowledge Organiser

Counting to 100

Partitioning

11 | 12 | 13 14 | 15

16 17 | 18 | 19 | 20

21 | 22 | 23 24 | 25

26 27 | 28 | 29 30

31 | 32 | 33 | 34 | 35

36 | 37 | 38 | 39 [ 40

1 | 42 | 43 | 44 | 45

4 47 | 48 49 50

51 [ 52 | 53 | 54 | 55

56 | 57

61 | 62 63 64 | 65

66 67 | 68 | 69 70

71 T2 73 T4 75

T6 77 78 79 80

81 | 82 | 83 | B4 | 85

8 | 87 | 88 | 89 [ 90

91 | 92 | 93 | 94 | 95

96 | 97 | 98 | 99 ( 100

\_

One more than 92 is 93.

/

One less than 100 is 99

64 has 6 tens and & ones
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Number and Place Value within 100

Knowledge Organiser
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Ordering Numbers

smallest to greatest =——> 55, 67, 89, 91, 100

greatest to smallest — 99, 82, 73, 68, 50
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is equal to
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Addibion and Subbrdebion

Addition and Subtraction Knowledge Organiser

Counting On and Counting Back

[ T-3=4 ][ Counting back ]
J
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Addition and Subtraction Knowledge Organiser
Number Bonds

5-0=-5 OO00O® 5-0-5
5-1-4 OOOOO ++1=5
5-2-3 OO0 3+2=5

5-3=2 @@OO® 2+3=5

5-4=1 @OO0OQ0 1+4=5

5-5=0 Q0000 o0+5=5




Addition and Subtraction Knowledge Organiser

1T T T T T T T T 1T 17T T 17T 1T 7T 7T 17 17 717 711
0O 1 2 3 &4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20
Number Bonds
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O 0000 |- ~ | OO 000 OO0 e

L+b< 14+ 6
OGN N XN 15N JI OO0 00 OO0 e
4+6=10 [ e | 14 + 6 = 20
10-6 =4 ~ o 20-6 = 14
> LN i
|l"" ' il 4
OO00ee OO0000 0O00ee
OGN N N | [m s 0 5) OO0000 OoO0eee
5+5=10 15 +5 = 20
10-5=5 20-5=15
. w,




Addition and Subtraction

Knowledge Organiser

CRITEFEETD) | CRIFEFEEFD) | ERIEEFEETTE First
TOCOo0oLt OO TR L
Then
First Then Now
A\ J
Now
'l Ty
Q009 O® OO
Q000 O O

I partitioned 4 into -~ ~
1 and 3. I partitioned 5
9+1=10 into 2 and 3.
12-2=10
10+ 3 =13
WH!IHIHH@“ \ ]_ﬂ _ 3 - ?
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WeitEen Mebhods and Visuals

Al: Objects & Pictures ||| A2: Number Sentence
5+5=8

OO0 OO0 2+5=8 g]

? o

o0

r
Answer: 7"

S - S— ®

A3: Counting On
8+5=13

+1 #1 +#1 #1 +

8 9 10 11 12 18




S1: Objects & Pictures
7-3=46

O

A

Q

O00|I0

11213 4 6 | 7181|910

“What do I get if | take 3 away from 7? Answer: 4"

Wildridings Frimary School Visual Calculafions Policy © Sense of Numbsr 2015

For soie use by purchasing schoni. Bespoke Graphic Design by Dave GodVey - Wi sensesthumber co ok

$2: Counting Back
IT@=P

“"What do I get if | take
:]U away from 127 A

9 10 11 12

"

nswer: 9

(A X X XJOLX X X X
10 20




WulBiplicaBion and Divsion

Multiplication and Division Knowledge Organiser

0000000000
2 4 6 8 10
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Count in 10s

There are 4 equal groups of
10] 20 s0f «o] 50 coJ 70§ so ] 90] 100 > banancs




Multiplication and Division

Knowledge Organiser

Add Equal Groups Make Arrays Make Doubles
@@@@@ double 1 is 2 1+1=2
4 rows of 5 = 20 cookies ! m
2+ 2+ 2+ 2=28apples 5 columns of 4 = 20 cookies double 5 is 10 5+5 =

Group Equally

Share Equally

Put the socks into groups of 2. [
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Share the buns equally between the 2 plates.




WeitEen Mebhods and Visuals

M1: Repeated Addition
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5x4=5+5+5+5=20

“S multiplied by 4" means “5, 4 times", which gives “4 lots of 5"!

L WIldrigings Primary $chool Visual Calculations Policy © Sense of NUMDr 2015
— by X oy - ok

M2: Arrays
83x2=6
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D1: Sharing
O0000O0
N>/

“If 1 share 6 pegs into 2 equal amounts,

how many in each group?” Answer: 3

©

wildrigings Primary $cnoel Visual Calcutations Policy © Senas of Humber 2015 @
‘For soie ise by purchasing schoo! mmwwmm

D2: Division as Grouping
12+2=6

“How many groups of 2
can [ fit into 127"
Answer: 6

Wiidridings Primary Schaol Visual Calculation Policy © Senss of Number 2015 @
For soe use by mmmmmwmm W SEnSEChUTer CO.
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D3: Grouping
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20+5=4

Wildridings Primary School Visual Calculationa Policy © mmwms@
For scie s by purchasing schod mmwwmm [

“How many 5s in 207"
Answer: 4




Frdaetions

Fractions Knowledge Organiser
Half of a Shape Half of a Group
These objects and shapes are split in half. There are 8 balls. Half of 8 is 4.

HOHGH®)
HOOD

Each whole has 2 equal parts. There are 10 balloons. Half of 10 is 5.

A* 990

P00 ¢
9




Fractions

Knowledge Organiser

Half of a Shape

These objects and shapes are split in half.

Each whole has 2 equal parts.

Half of a Group

There are 8 balls. Half of 8 is 4.

HOHGH®)

9P
A4
4

HOOD

There are 10 balloons. Half of 10 is 5.

L4
L4
4




[ )
GCime

Before and After Days of the Week | | Months of the Year
before Monday January
Tuesday February
Wednesday March
Thursday April
Friday May
Saturday June
p " Sunday July
First, I brush my teeth. August
Next, I look at a book.
Finally, I go to sleep. September
I brush my teeth before I look at a book. October
I go to sleep after I look at a book. November
) g December




Time Knowledge Organiser

At the hour, the minute hand points to 12.

The short
hand is the
hour hand.
The time is 8 o'clock. The hour hand points to the hour.
At half past, the minute hand is half way round w\' is faster than a u

the clock pointing to the 6.

A (ﬂ) is slower than a ‘

The hour hand will be halfway between one hour
and the next.




loength and Height®

Height Length

The car
is shorter
than
the train.

The dog is taller The cat is shorter
than the cat. than the dog.

The train
is longer
than the car.
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[ tallest ] [ shortest J [ lun;est ]




Length and Height Knowledge Organiser

Length and Height

[ The same length.

] [ The same height. ] [

This pen is 6 cubes long.
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[ This ruler is to scale.




W eight and Volume

Weight and Volume Knowledge Organiser

We can use different types of scales to measure mass.

The duck is heavier than the ball.
The ball is lighter than the duck.

The teddy weighs the same as 5 cubes.
They are balanced.




Weight and Volume

Knowledge Organiser

We can use different containers to measure volume.

Capacity is the total amount of
liguid a container can hold.

Volume is the amount of
liguid that is in the container.
This can vary.

It takes 4 cups to fill this jug.

e @
e @

empty

A

= e
Hi i /

B has more water than A. D has less water than E.

nearly
empty

half nearly
full full full




Position and Direction

Position and Direction

Knowledge Organiser

Describing Movement

Describing Position

@*% @f‘

quarter turn half turn

@0% @O

[ three-quarter turn full turn

backwards

‘_
left

ﬁ

forwards right

The pig is to the left of the hen.
The hen is to the right of the pig.

The pig is in front of the sheep.
The sheep is behind the pig.

The duck is below the doll.
The car is above the doll.
The car is on the top shelf.
The doll is on the middle shelf.

The duck is on the bottom shelf.

The doll is between the car and the duck.




